Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination - Summer 2016

Subject Code: C300011
Subject Name: Basic Chemistry
Time: 02.30 PM TO 04:00 PM

Instructions:
Attempt all questions.

1.

Date: 10/05/2016

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ust 3t ([Ascql.
Which of the following contains intra molecular hydrogen bonding
1. |A |Cl B. | NaCl
C. | O-chlrophenol D. | P-chlrophenol
o{lAsttHill Slol wict: qefla ol wRid B.
1. [A. | Cl B. | NaCl
C. | o-sARABAcA D. | p- sAABAct
Which of the following contains ionic bonding
2. |A. |Cl B. | NaCl
C. | CHa D. | SOs
ol Aot Hiell sl MRS citt YRl .
= [A ]cCl B. [NaCl
C. | CHa D. | SOs
Crystal lattice arrangement of Al is type.
3. |A |FCC B. |BCC
C. |HCP D. | None of the above
Al oll 2R sHa URHIRjG{l Ul ysiell sl 8.
3. |A |FCC B. |BCC
C. |HCP D. | Qe @scdl wigl As uel ool
A substance that activates a slow acting catalyst is called
4. | A. | Positive catalyst B. | aninitiator
C. | catalytic poison D. | promoter
g Ueld LA sl scl Galusell UglaAclHl auRA s A séal .
¥. |A | uet GAus B. | yirasl
C. | Gdus (Qw D. | G&lus-Gas
Which of the following is the example of non-polar covalent bond
5. |A. | HCI B. |Cl
C. | NHs D. |HF
o(lAotl Hiell Wyl UsAAxSs citley BElSNQL L.
LA THC B. [Cl
C. [ NHs D. |HF
In the manufacture of H.SQO4 in contact process, As»>Os acts as
6. | A. | Promoter B. | Negative catalyst
C. | Catalytic poison D. | auto-catalyst
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H,S0, oll sellae Hze(l 15 [QRHL As,O, 3% st 52 ©
s. | A | GAus-Gaxs B. | s Gélus
C. | Gdus (QAw D. | 22l GAlus
The substance change the rate of chemical reaction is called
7. | A. | Catalogue B. | Catalysis
C. | Chromophore D. | Catalyst
B UELA o AM2AQ s ylBal gL 325 53| astal A UeldA sdcllal.
9. |[A | 3edot B. | G&luet
C. 618 D. | Gélus
Which of the following is the example of network solid?
8. | A. | Diamond B. | P4
C. | Ss D. | None of the above
o{lAatl Hiell ostollerR uot Uelo] GELSRNU QU
c. R B. [ P
Ss D. | Qe @sedl wigl As uel ool
The catalyst which retards the rate of chemical reaction is know as
9. | A. | auto-catalyst B. | negative catalyst
C. | catalytic poison D. | promoter
% Gelus AAAUMRs Ylsatell Ao YLsl 52 A sdclad B.
¢. |A |2l Gllus B. | 2 Gélus
C. | Gdus (Aw D. | G&lus-Gas
pH of acidic solution is
10. | A | >7 B. | <7
C. | =7 D. | None of the above
AREs alawell pH
0. A [>7 B. [<7
C. | =7 D. | None of the above
The solution which resist change in pH by addition of small amount of acid or base is
11 Called
" | A. | Indicator solution B. | Buffer solution
C. | Reagent solution D. | None of the above
B alaQUHl AlsL YHIRHE ARS waudl Ash GRRAL 9l pH Hi 32512 A
ol Aal alaga s&clll.
q. A B
© | YUS alal - | 0§ glagl
C. | yBaus alawl D. | wde @scdl 1igll As ual ol
The standard electrode potential of hydrogen electrode is
12. [ A. |Ovolt B. |1volt
C. | 2volt D. | None of the above
YRl slesdlesel Yool YHIRA WRAUA of Yel
2. | A. | Ovolt B. |1volt
C. | 2volt D. | e @sedl wigdl As uoel ool
Value of ionization constant of water (Kw) at 25" C is
13. |A. |10 B. | 107
C. |14 D. |10%
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UlRletl MRl Adetat WAUALS (Kw) of YU U’ A sla 8.

3. (A [10% B. |107
C. |14 D. |10%
The degree of ionization of a substance is depends upon
14. | A. | Size of solute molecules B. | Nature of solute molecules
C. | Nature of vessel used D. | Quantity of electricity passed
UELAaAl AL2AlA 501 9L GUR JUR AW B.
A | glealell AR SE B. | alasetl wgell ysld
Y. - -
C. | Gualoi Qaudat atalell | P | uatir sraudl et [Qydycusst
ysld o2l
If zinc is coated on base metal surface is called
15. | A. | Tinning B. | Galvanizing
C. | Gold platting D. | Chrome platting
YA tldetl olAld {2 dell GUR dctatl A Us Ualalallsll
yBael  sdaA
Q. - -
A | el AL
C. | sles w@dlol D. | sl w@dlo
100 ppm = degree clark.
16. | A. | 0.07 "clark B. | 7clark
C. | 14.3 " clark D. | None of the above
100 ppm = Sl sl
1s. | A | 0.07 ° scud B. |70 sau3
C. 1143 scud WA (sl Hidl As uel o1l
Molecular weight of CaCl; is gm.
17. | A | 111 B. |120
C. |95 D. |100
CaClpoll QIR UH B,
W. A 111 B. [120
C. 195 D. |100
indicator is used in water hardness measurement.
18. | A. | EDTA B. | Methyl Orange
C. | Erio chrome Black- T D. | Phenolphthalein
wWillell slEotctiott Huaui YAS AUAA B,
q¢. |A |EDTA B. | Mause 12
C. |EBT D. | Rolsdcllot
Water which does not produce good lather with soap readily but produce curdy
19 Precipitates is termed as
" | A. | Soft water B. | Hard water
C. | Acid water D. | Moderate hard water
% Wl AL A ARl % U3 Sl Geuat 5 otell URd €&l Ball UAdU
Gelat 52 A well
Qe.

A ou wall

s(8et uRll

C. | aARs wel

YHIRR 5(8et wigll
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20.

The phenomenon of becoming boiler material brittle due to accumulation of caustic

Substance in water is called

A. | Scale formation B. | Sludge formation
C. | Caustic embrittlement D. | Foaming
% doll 1l Wl 2uUesEloll 1ol atdl clleeell tlde] aireL e Ax 9
sl ?
R0. -
A ol sl B. | saucte Geunt uq
C. | 91dls swllecoe D. | flot Geust ag
Which solution is used to regenerate acidic resin in ion exchange process?
21. | A. | Bromine solution B. | 10 % NaCl solution
C. | NaOH solution D. | HClI solution
el [AlAHA QUL 53 alall WARS ABetal YotylAd scll M2 U2
8.
9. A B
- | @t slaL - | 10 % NaCl sLalQl
C. | NaOH ala@l D. | Hel alanl
The process of wet steam formation due to rapid boiling of water in boiler is known as
22. | A. | Scaling B. | Sludge formation
C. | Priming D. | Foaming
ASARML WRll 35Ul B A elloll clAn Beur Ul Al 9 sdallad ?
2. | A | vl cuell B. | aaucte Geunt uq
C. | doa ousy, ototel] D. | flot Geust ag
Temporary hardness in water is caused by
23. | A. | NaCl B. | MgCl2
C. | KCI D. | None of the above
wRllell alRls sdotdl lAtHil s et vueudl 8?2
3. | A. | NaCl B. | MgCl2
C. | Kcl D. | e @sedl widl As uel ool
As dilution of aqueous solution increase, the degree of ionization
24. | A. | Increases B. | decreases
C. | remains constant D. | None of above
B cllad alal@loll HE Al dll A wWIRe150L viale] Yel 8
¥. | A | ad B. a2
C. | uun 2 D. | s @scdl 1igll As uaL ol
Exhausted Zeolite is regenerated by passing
25. | A. | NaOH B. | Brine solution
C. |H0O D. | HCI
of alalll AR 531 wWalle oAl AlDcAls2al Yot: A sallHl wWd B,
C. | H0 D. | HCI
Permanent hardness in water is caused by
26. | A. | NaCl B. | KCI
C. |CaCl D. | Ca(HCOs)2
ag utg&cﬂ slaAHl sl ol Al 520 &RA uewdl 82

| NaCl

| B.

| KCI
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| CaCl2 | D. | Ca(HCO3)2

Water Containing dissolved salts of chlorides and sulphates of calcium and
Magnesium is called

27 A. | Temporary hard water B. | Permanent Hard water
C. | Soft water D. | Moderate hard
% LRl o J(EAH U NoARl2AM oll SARAGS Vol UCKS ol &R YRleld sl
A well sdall
Q0. A B
- | alds s(8et will | stadl s8et well
C.o | ot wall D. | staial o121 wiell
Molecular weight of Mg(HCO3), =
28. | A. | 146 B. |95
C. | 111 D. |140
Mg(HCO3)2 oll AURJAUR =
RC. A [146 B. |95
C. | 111 D. |140
1 degree clark = degree french
29. | A. | 146 B. |01
C. 143 D. |0.07
18l saus = Slfl 3
*C. [A [146 B. [0.1
C. 1143 D. |0.07
The temperature at which oil begins to give enough vapour which gives momentary
30 flash of light when a flame is applied to it
" | A. | Flash point B. | Pour point
C. | Cloud point D. | Viscosity index
% AlUHIA Ycll@lal e so{l olwU olal el v WA st Alelcll oltsUell
aAls ets sl Al A dAlUHLela sdala 8.
30. ; :
A | atsst@Ag B. dcu @¢
C.laen @¢ D. | Ravouctl s
Lubricant is use to reduce
31. | A. | Conductivity B. | Surfacetension
C. | Viscosity D. | Friction
les0ll GuAlaL dalsal Hie Ul d.
39, | A | clesdl B. | ywdual
C. | RaouAL D. | arme
Fire point of good lubricant should be
32. | A. | High B. |low
C. | moderate D. | too low
AR Yelléle] @ es0] waL (A 8ld e,
32. | A |6y B. 4lly
Co e D. | dgetolly
Which apparatus is used to determine Viscosity of lubricating oil?
33. | A. | Stalagmometer B. | Abbe viscometer
C. | Redwood viscometer D. | Pensky Martin viscometer
33. | @80l RaloUdlloll MlUat HI2 Sl AUltotoll GUADL AL B?
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Al RAellBle? Aol (8B
C. 12sgs [QrslMe? D. | Qo3 1lEet (Qr\Re?
Repeating units of natural rubber is called

34. | A. | Chloroprene B. | Neoprene
C. | ethylene D. | Isoprene
58l 012 s Uldcdo(la WAsH YRAA B

3%, | A | sclAlet R let
C. ls@@As D. [l
The general formula of alkenes is

35 A CnH2n+2 B CnHZn-Z
C. CnH2n D CnH2n+3
UUCHote] AMLA YA 0.

34 [A. ] CoH2ne2 B. | CiH2:2
C. CnH2n D CnH2n+3
Which of the following is alkene?

36. | A. | CH3-CHs B. | CH2=CH:2
C. | CHas D. | CeHs
o{lAottuiell 2ucslot vl olclal.

3S. [A. [CHs-CHs B. [CHz2=CH:2
C. | CHas D. | CeHs
Which of following is thermosetting polymer

37. | A. | Polyethylene B. | PVC
C. | Teflon D. | Bakelite
ofluotl 1l SlQL clurand slgues ®.

30. | A | Qdlsdlclet B. | L.l
C. | 2sclot D. | Q¥cuse
Which of the following is aliphatic compound?

38. | A. | Ethanol B. | Benzene
C. | Benzoic acid D. | Phenol
o(lAsttiell AA%Sls ueld ol wdldl,

3¢. | A | Sl B. | QAleBet
C. | aegs AR D. | fact
The general formula of Alkane is

39 A CnH2n+2 B CnHZn-z
C. CnH2n D. CnH2n+3
UICoto] AULHIRA YA 8.

3¢. [ A | CaH2ne2 B. [ CiH2:2
C. CnH2n D. CnH2n+3
Which of the following is alcohol?

40. | A. | CH3COOH B. | CHsOH
C. | CH3-CHO D. | CHsO CHs
o{lUuctiiell pucslelcd M.

80. | A. [ CHsCOOH B. | CHsOH
C. | CH3-CHO D. | CHsO CHs

41 Which of the following is used as monomer in the manufacture of PVC

A. | CHs-CHs

| B. [ CH,=CH-CI
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C. |CH=CH | D. [ CH2=CH-CHjs
o{lusttHill 5oL UL el 2l ofl ttottatz i HellHR 313 auri 8.
¥ A [CHs-CHs B. [ CH,=CH-CI
C. |CH=CH D. | CH,=CH-CHj
Thermo plastic polymer contains structure.
42. | A. | Crass linked B. | Branched
C. | Linear D. | None of the above
AHARs QAR o0l YRla B,
¥2. [ A | aicRoitld B. | auma
C. 13 D. | e @scdl wigdl As ual o2l
Plastics which become soften on heating and rigid on cooling without any chemical
43 change are called
" | A. | Thermosets B. | Thermoplastics
C. | Adhesives D. | Elastomers
B LARS Sl IR $cll oM tal WA 6 USAl AU ool SleURL AUURS
%2512 (Aol A sdclll.
¥3.
A diu e B. | dtu yotral
C. |Asdlla D. | sezdlu:
Amount of KOH in milligram requires to neutralize one gram of an oil is called
44. | A. | Saponification Number B. | Emulsification number
C. | Acid value D. | None of the above
WS AUH AcHl ¥l Y5 ARSA derel scl HE %33 KOH of BAaunHni
cosolal sdclll.
X%, , :
A | Uoy5R0L s B. | warlls2el uis
C. |ARs uis AUNA (Ascq Hidl As wel «2ll
Grease is Example of
45. | A. | Solid lubricant B. | Semi-solid lubricant
C. | liquid lubricant D. | Adhesive
oflos A YslRoll we50] BELERNQ D
YU, [A | dol 65 B. | wfluot <l6s
C. | yaudl :tss D. | ol uelX
Deterioration of metal due to atmospheric action is called corrosion.
46. | A. | Pitting B. | Atmospheric
C. | Waterline D. | Crevice
clclaRBlell wUARA 51RAL Uldetl alel UHclell (saa &R0 sdclll.
¥S. YlElat B. | alcttaziell ad
Co luwgllell wdl «0A aq D. | dsui aq
Which of the following is used as monomer in the manufacture of Polyethylene
47. | A. | CH3-CHs3 B. CH>=CH2
C. |cH=CH D. | CH,=CH-CHs
o{luetl Hill 510 WAl Alotoll ctoticz H HAHR A3l cu 8.
¥9. | A. | CHs-CHs B. | CH,=CH:
C CH= CH D. | CHx=CH-CHs
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Introduction of

in to the natural rubber is called VVulcanization.

48. | A. | Sulphur B. | Oxygen
C. | Nitrogen D. | Phosphorous
secll 0R4{l iR el scle(l ulsaal acksellswl sdatal .
¥e. | A | AAUG R B. | @5t sl
C. | anuesdl D. | wded @scdl 1igll As ual ol
Which of following is used as elastomer?
49. | A. | Polyethylene B. |PVC
C. | Buna-S D. | Bakelite
o{luetl Hiell Sl BARIHR (RUR) A3l¥ cuRya B.
¥e. |[A | Qcllsellellot B. I lcflall
C | syot-aly D | a3cuse
During polymerization no side product is obtained.
50. | A. | Addition B. | Condensation
C. | Sulphonation D. | Nitration
% wgellsRQl Ylsaul e:utet oW (AU Ylict of Ul AR sdald
uo. |A | AbRA wguesdl B. | dtlotet olguescll
C | uclalaet D | sugS3 st
Which of the following is monomer Teflon
51. | A. | CHs-CHs B. CH2=CH:
C. | CF=CR; D. | CH,=CH-CH3
o{luetl Hill 5ol 25 taAl HAHR A3l Uy D
4. [A. [ CHs-CHs B. | CH,=CH,
C. |CF=CR D. | CH>=CH-CHs
The substance have same molecular formula but different structural formula is called
52.
A. | Polymers B. | Monomers
C. | Isomers D. | None of the above
% Uelllotl AURQIYA UMt URd olaitRellaA YA AU AL &l
Aol séalal
Y.
A QR e BIE
C. | unues D. | ade [@scdl 1igll As ual ol
Nylon6,6 is formed by
53. | A. | Condensation polymerization B. | Addition polymerization
C. | Vulcanization D. | Cyclization
QlRLollACeL 5,5 GlotlclcllHl A &
u3. Aelotol UguUSscll B. | 2otellet gyesell
AL B Rlot D. | uglsza
The substance ionize 100 % in to the solution is called
54. | A. | Weak electrolyte B. | Strong electrolyte
C. | Medium electrolyte D. | None of the above
% UELo] alaRHl 100% e{ls0L UlA At sdcld .
uy.

A.

A @Qydldeusa

B.

yolo [QydQeus
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C. I yram Qydeusa D. | aded @scdl 1igll As ual ol
pH of aqueous solution having concentration of 0.001M H3O+ , is
55. |A. |3 B. |7
C. |14 D. |1
0.001M Hz0+ ol Aisctl tRtetcl el state{l pH R
W A T3 B. [7
C. |14 D. |1
reaction occurs at anode in electrochemical cell.
56. | A. | Reduction B. | Hydrolysis
C. | Nitration D. | Oxidation
Qyd Au2AG s 51 Aells Yol GUR ylsa aa .
us. Assalet B. | sl
C. | sussalet D. | 20533 9t0t
Which of the following hydrocarbon is saturated
57. | A. | CH3-CH3 B. | CH=CH:
C. |CH=CH D. | CH,=CH>-CHs
oll2Aatl Higll Slal A slsQlsiolat sda B,
U9. ['A. [ CHs-CHs B. | CH2=CH:
C. |CH=CH D. | CH,=CH>-CHjs
E.M.F of Zn/ Zn *?electrode is V.
58. |A. |0.34 B. |0.45
C. |0.67 D. |0.76
Zn/zn*? (AYd Yool E. M. F. V.
“e. A T0.34 B. [045
C. |0.67 D. |0.76
Graphite is type of lubricant
59. | A. | Solid lubricant B. | Semi-solid lubricant
C. | liquid lubricant D. | Synthetic lubricant
Aslee Ysloll wes 8.
ue. | A | dol 65 B. | ot 0l6s
C. | yaudl ss D. | uizARs 65
Polymers containing the same type of monomeric units are called
60. | A. | Homopolymer B. | Copolymer
C. | Elastomers D. | Adhesives
A5 AUl HlellHR AsH ULl sgusa 58 8.
so. | A | el B. | ez
C. | e D. | AAsddlla
Rate of corrosion depend heavily on the
61. | A. | Wind Velocity B. | Viscosity
C. | Surfacetension D. | Moisture
&lR0Lell €2 GUR UQAN WUR AN B,
sa. | A | udetell BsU B. | Ratouctl
C. | ywawl D. | Qx
62 Terylene is used as
" | A. | Plastics | B. | Synthetic fibres
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.| Elastomers | D. | Adhesive
23ldlet A3 auga B.
s | A | wrdls B. | uiz@ls 2
C. | et RuR) D. | ol uelx
The hybridization in which one s and two p orbitals take part is called
63. | A. | sp hybridization B. | sp®hybridization
C. | sp?hybridization D. | None of the above
% ASWUUL A5 s WA A p s&sl ol A dal séalA B.
3. [A. |sp B. |[sp®
2 .
C. |sp D. | e @sedl wigdl As ual ol
What is the bond angle between the hybrid orbitals in Methane?
64. | A. |180° B. |120°
C. |109.5° D. | 360°
RAul ¥l s sa18l A AULAL sitioll WRI LUl
s¥. [A. [180° B. [120°
C. |109.5° D. | 360°
The substance used to stick two different surfaces firmly are called
65. | A. | Plastics B. | Synthetic fibres
C. | Elastomers D. | Adhesive
A oel-o€l AULELA 1oyl I Walsall W dAURAAL UEdA 53 B,
su. | A | wedls B. |2
C. | sclHR RuR) D. | ol uelX
2-Pentenone & 3-Pentenone are the example of
66. | A. | Metamerism B. | Chain isomerism
C. | Position isomerism D. | Functional isomerism
Al Al HIY 2-Ueollol WA 3-Uoollol Sloil GELSL B.
ss. | A [ Radlou B. | gjuiatl umuesdl
C. ] Rauet umuesdl D. | ays unuesdl
Aldehyde consist which of the functional group
67. | A. |-OH B. |-O-
C. | -CO- D. |-CHO
ol Astmiell sl [@Ascu B slESs UYs £A B,
s9. [A. |-OH B. |-O-
C. | -CO- D. | -CHO
The general formula of alkyne is
68 A CnH2n+2 B CnH2n-2
C. CnHZn D CnH2n+3
WEsLESolo] ULHLIRL YA 8.
SC. A [ CaH2ne2 B. | CiH2:2
C. CnHZn D CnH2n+3
Sodium silicate is example of
69. | A. | Adhesive B. | Elastomers
C. | Thermoplastic D. | Thermosetting Plastic
ABa1 AA3e of GELERW B.
SC. .
A | ol ueld B. | scizdl R Ru?)
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C. | aniticzdls D. | saladlol wewéls
Which rubber formed by Co-polymerisation of butadiene and styrene
70. | A. | Buna-S B. | Buna-N
C. | Neoprene D. | Isoprene
6RJ2LSLESol AR LA otoll KeAAYSQUYUL sl YslRe] 012 Glal B,
90. 62foll- A B. | 6jotl-Ast
C. | QAR D | augallot
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